M a= V8, b=2+ V2, c =39 ta TAE YeYH?

D a<b<c @a<c<b ® c<a<b

@ c<b<a ® b<a<c

3=1V90]B& V8<3,b—c=2+V2-3=+V2-1>00]B&
b>c

a<c<b




Ge Al Sa—d-VF. b=2,c—4- V8O Ui BAR 2O

AL

D a<b<c @ a<c<b ® b<a<c
@ b<c<a @c<a<b

B \

l<a<?2o0]1

-Vo<-V8<-V1
4-Vo<4-V8<4—- V4
©1<4-—8<2

Ll<e<?
a-c=A-VT)-(4-V8) = V8- V7>0
a>c

c<a<b




0|

o2 1o A AHZFEABCD = §F D C

wle] Zol7t 1 9 AALzrgoleh. A AR
Pol thgsts 27 5-3v2olw | 90|
AC-AQ, DB-BPQwW,dqel | | ]
8ot =2 P A B Q
® 5- 2 @ 5-20 (© YE)

@ 4-2v2 ® 3-2v2

B

A& ABCD €] tizbd dole V2
P(5-3V2)
B £ P Ht} 2 THE @ 2&0 $ix|et A




« vy v >
-2 -1 AB O C 1 2
@1—«/5 @ 2-+2 ® 1-22
@ 2-2+2 ® 32

a=-2+ V2, b=1-V2,c=2-12
Latbtce=-24+V2+1-V2+2-V2=1-2




G- VG VE- VIS _
\/5 - ‘/5 —a\/g“r‘b\/m
a+b 9 #2?

A o, {25 a, b ol Histe]

17 3 13 23
B
Vi- V6 V2- 15
V2 V5
_ (V5-V6) V5 - (V2 - V15)V2
- V10
_ 5- 30+ V30-2
- V10
_ 3
V10
_3VI0
T 10
azO,bzl—OO]Ef;a+b:E




6.

a=-V3,b= V5L W, a(a-2b)-3b> 2 27

D -18-2+5 @ -18+42+15 @—12+2\/E
@ 18-2+/15 ® 18+ 215

(FA) =3-2x(-V3Vh) -3x5=-12+2V15




ull
=

RO

2(V6-2- V6) = -4

6-2
)

V6

2<V6<3
2a-




B
lo
o
>
1r

o] 5 9w, A4 x 9] gl of

O 25 @ 27 ® 31 @ 34

o

Vx =5.x X
F<4yx<6 — 25<x<36




2-2c=12 0, 24 L o] 3e Fololal,

X
[
=

>
[> =

oH =

&8




10. x+y=3, (x+3)(y+3) =21 & ™, x* +xy+y* o] &A= otef=t

x+y=3, (x+3)(y+3) =21°1A
xy+3(x+y)+9=21

xy =3
B2+xy+yP=(x+y)?-xy
—9-3=6

* 6




11. o5 IHNA P o HEE«a
QY HES b T,

a® - b* o] gr& Tt

\
1 x \
! 4 \\ !
) 4 X
0o P1 2 Q
| =
|>I-IC-I' _3_8\/5
a=2-V2, b=1+2v2
a>-b*=(a+b)(a—b)

=(2-V2+1+2V2)(2- V2-1-22)
=(3+ V2)(1-3v2)

=3+V2-9V2-6=-3-8V2




= Al @ - 57 o] e Fefelh

1 1
= — = \/5—1,[7: =\/§+1
V2+1 V2-1

a’-b* = (a+b)(a-b)
=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2

a




13. x%y-y-2+2x2 9 Q157} opd 220

D x-1 @ x+1
@y—2 ® y+2

B

&

xry+2x2 -y -2
=x(y+2)-0+2)
=(*-1)(r+2)
=(x+1D)x-1)(+2)




A2

ru

14. o2 B7] F xy(2x + 3y) —xy(x +y) & QI5E B5F 4

1=
Q@ xy O x+y © x+2
® 2x+ 3y @ x(x+2y) @ y(x+y)
ONGRC) 2)0,©, ® ® 0,06
@ ©, 6,0 ® ©,0,6

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}
= xy(x + 2y)




15, 2 +3x=5 <L, x(x+1)(x+2)(x+ 3) -3 & 27

@® 21 @32 ® 60 @ 96 ® 140

(x24+3x)(x2 +3x+2)-3=5(5+2)-3=32




)
x+3)(x-3)(x+2)(x-2)
)

(x—-2)(x% + 3)

(x* —4)(x®* —1) — 40 = x* - 5x% — 36
— (2 -9)(x+4)
= (x+3)(x—3)(x* +4)




17.

VIS+3T VI5-2F5 E 454, 2VTH3V2-1 35 22 55 bty
st b—a o gHE F5HA?

@ 4 @ 2 ® 0 @ -2 )

S5 «
@ Vi8+3-(V15-2)= V18 +3- V15+2>0
V1843 > V15 -2
@2Vi-(3V2-1)=2V7-3V2+1= 28— VI8 +1>0
L2V7>3v2-1
na=V18+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=—40°]|t}.




18.

o

al

AT
D a-b>0 @ b-a<0
@ ab>0 @a+1>0

FAFab7ta=8-3,b=-VT+ B I s F &2
A

® b+ V7>3

a-b = \/5—3—(—\/74- \/§)
@ = V7-3
=V7-v9<0
La—-b<0
b-a=-VT+ V8- (V8-3)
@ =-V7+3
=V9-V7>0
o b—a>0
@ FHM)=b+ VT =-V7+ VB8+ V7= V8
($H)=3= 9
L b+ V7<3
@a=V8-3=V8-V9<0
b= V8- V7>0
soab <0
a+1=(V8-3)+1
® = V8-2
= V8- V4>0

La+1>0




19. a-b=V3+29 ], a®+b%-2ab—4a+4b+ 4 2] ZEL?

@ 1 @ 2 OF @ 4 ® 5




20.

By =-2 xy=-14 0, x+y°] G ool (Fx<y)
=1
[—

>
> AP x+y=0

o] & a5t
B-1r?+2-3t+2=0,
2t-1)+(t-1)(t-2)=0
(t=1)2(t+2) =0
x—-y=-2(" x<y)

(x+y)? = (x-y)* +4xy 0| B2
(x+y)?=(-2)2+4(-1)=0

T x+y=0




